SOLE SOURCE JUSTIFICATION FOR NEW FLYER PARTS

FTA C 4220.1F states: Sole Source Justification - If the recipient decides to solicit an offer from only
one source, the recipient must justify its decision adequately in light of the standards of subparagraph
3.i(1)(b) of this Chapter. FTA expects this sole source justification to be in writing.

1. The materials/services listed on Requisition number 104330 is available from only one source and
competition is precluded for reasons indicated below. There are no substitutes available.

2. This acquisition is restricted to the following source:

Manufacturer: New Flyer Parts (101298)
Manufacturer:
Manufacturer Address: 7001 Universal Coach Drive Louisville, KY 40258
Manufacturer's Dealer/Representative: Kim Watts
Dealer/Representative Address and Phone Number: 1-800-231-2312 kim.watts@nfi.parts

3. Description of the materials/service required, the estimated cost, and required delivery date.

This request is for the purchase of proprietary Bus parts for fleet repair that is only available through New
Flyer. The estimated cost is 525,000 per year. We are looking to fund this project for a term of 2 years and a
total funding cost of 1,050,000

4. Specific characteristics of the materials/service that limit the availability to a sole source are unique features
and functionality of the system.

As per manufacture, these specific parts must be purchased directly from New flyer; see the attached
documents.

5. Check and fill in all that are applicable:

0O The material or service must be compatible in all aspects (form, fit, and function) with existing systems
presently installed. Describe the equipment you have now and how the new materials/service must
coordinate, connect, or interface with the existing system: See attached.

A patent, copyright, or proprietary data limits competition. The proprietary data are described as
follows:

U These are “direct replacement” parts/components for existing equipment.

“ Other information to support a sole-source buy:

(a) Sole Source. When the recipient requires supplies or services available from only one responsible
source, and no other supplies or services will satisfy its requirements, the recipient may make a sole
source award. When the recipient requires an existing contractor to make a change to its contract that
is beyond the scope of that contract, the recipient has made a sole source award that must be justified.

Page 1 of 2



1 Unique Capability or Availability. The property or services are available from one
source if one of the conditions described below is present:

O Unique or Innovative Concept. The offeror demonstrates a unique or innovative
concept or capability not available from another source. Unique or innovative
concept means a new, novel, or changed concept, approach, or method that is the
product of original thinking, the details of which are kept confidential or are patented
or copyrighted, and is available to the recipient only from one source and has not in
the past been available to the recipient from another source.

i Patents or Restricted Data Rights. Patent or data rights restrictions preclude
competition.

O Substantial Duplication Costs. In the case of a follow-on contract for the continued
development or production of highly specialized equipment and major components
thereof, when it is likely that award to another contractor would result in substantial
duplication of costs that are not expected to be recovered through competition.

O Unacceptable Delay. In the case of a follow-on contract for the continued
development or production of a highly specialized equipment and major components
thereof, when it is likely that award to another contractor would result in unacceptable
delays in fulfilling the recipient’s needs.

CERTIFICATION

| certify that statements checked and information provided above are complete and correct to the best of my
knowledge. | understand that the processing of this Sole-Source Justification precludes the use of full and
open competition.

Rvan Moser Q_-?— >—-7 '
Requestor Date
"*"'-‘-'L‘.u\.& \u..\r Qg 2 13 .3‘[
Department Head N Date

/ / 2-2%-2/

Date

“’M‘M“&W“’* b
_ (/,; ;émm / | ‘3/ L/

T cure ent . [ Date
3,/ VAo

Clfief Fmaﬁcial Offy ' Date
67‘ Loty /(1

ieePresident [\, Date

Page 2 of 2



nfiparts

1/19/2021

Ryan Moser
Maintenance Manager
2817 Canal Street

New Orleans, LA 70119

In reference to proprietary parts
Dear Mr. Moser,
| am writing to provide a statement of proprietary items as sold by NF! parts

NFiParts™ is the aftermarket support team for New Flyer Industries, a leading manufacturer of transit
vehicles in North America.

Employing over 250 administrative and warehouse staff, and supported by our professional external sales
force, New Flyer Parts maintains a consistent and stable pattern of growth. Since 1986, our Parts
organization has expanded to its current status as the leading transit parts supplier in the U.S. and
Canada.

To further diversify and grow our aftermarket parts business, New Flyer acquired Orion from Daimler
Buses North America in March, 2013 and North American Bus Industries (NABI) in June, 2013.
Combining scale, footprint and overhead has created a robust service infrastructure that continues to
provide a high level of service and support to our customers. Orion and NABI parts have been efficiently
integrated into New Flyer's business systems and distribution centers in Canada and the U.S.

NFIParts™ is the largest distributor of aftermarket parts in the transit bus industry with five strategically
located Parts Distribution Centers (PDCs) representing over 300,000 square feet of warehouse space.
This distribution strategy allows us to efficiently serve all of our customers, reduce in-transit times, and
support new initiatives such as Supply Chain Solutions.

In further solidifying this statement, there are over 100+ vendor relationships that are established in
providing parts which are considered sole source for the New Flyer SRs which you have provided. This
would also include our internal partners in the factory and parts warehouses which engage in the
manufacture and kitting of several of these items. For the New Flyer SRs, there are roughly 1500 parts
per SR or 30%-35% per total parts installed on the bus (varies by SR) which are considered sole source.
We are working on providing a clearly defined list of these items for both your New Flyer and Orion
products. | have attached an example data pull for the New Flyer SRs 2441 and 2343 for your initial
review. Please let me know if you have any questions.

Yours truly,

Brian Hanna
Customer Service Manager, NF| Parts



Part Number

082120NFA
201584
327892
328118
348060
365460
404146
494433
543288
5947950
6313074
6313075
6313076
6313077
6313086
6313087
6313255
6313256
6313258
6313261
6314711
6317346
6320073
6344747
6344763
6344764
6344765
6344768
6345370
6345371
6345375
6345474
6345476
6345479
6345695
6346198

Latest Part Description

Nut, Lug Hub Piloted M22
Plate, Shock Mount

Nut, Hex Lock M14 x 1.5
Bumper, Suspension
Mounting Plate, Bellows
Bracket, Quick Release Valve
Screw, Torx Cap M22x 1.5x 75
Panel, ABS

Hose, 3808 FL45.1
Neoprene, 2" W x .06" Thk.
Screw, Stop M16 x 1.5 x 68
Nut, Hex M16 x 1.5

Plug

Data Plate

Nipple, Hydraulic Lube Type
Cap, Protective

Puller Cap, Threaded

Cover, Fitting

T-Handle

Bushing, Threaded M115
Multiplier, Torque 1:8

Joint Press

Mandrel, Guide & Press
Center Link Assembly

Arm, Tie Rod Streetside
Screw, Cylinder Internal M22 x 1.5 x 90
Tie Rod End

Nut, Hex Lock M24 x 1.5
Slotted Nut Spanner Socket
Counter Holder Flange
Removal Flange, Hub Unit
Adapter, Wheel Bolt

Slide Hammer

Holder, Dial Gauge

Pump, Hydraulic

King Pin

Proprietary?

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

Supplier

KUMAR INDUSTRIAL CORPORATION
CHAMP INDUSTRIES CDN
MAN TRUCK AND BUS AG
STATE INDUSTRIES LTD
ASSEMBLY SYSTEMS INC
ACCUFAB METAL WORKS
MAN TRUCK AND BUS AG
SCT WELDING LASER AND MFG CO
AIR HYDRAULIC SYSTEMS INC
INDUSTRIAL RUBBER SUPPLY 1995 LTD
MAN TRUCK AND BUS AG
NEW FLYER

MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG

Pricing

$1.64
$24.56
$3.06
$38.70
$24.36
POR
$12.67
$253.59
$15.99
$0.48
$8.72
POR
$5.19
$2.50
$2.99
$0.24
$130.36
$274.93
$90.74
$216.68
$3,236.70
$2,759.72
$68.61
$344.73
$250.55
$12.67
$205.35
$8.19
$289.78
5444.61
$441.72
$80.70
$356.46
$429.99
$1,913.00
$88.77



6361057
6361058
6361062
6361225
6361226
6361227
6361228
6361229
6361230
6361231
6361371
6361372
6361373
6361378
6361379
6361380
6361381
6361382
6361383
6361384
6361385
6361386
6361387
6361388
6361389
6361440
6361441
6361442
6361683
6362405
6362406
6389180
6389181
6389186
6392519
6402102
6402104
6402105

Arm, Tie Rod Curbside

Arm, Steering Rear Streetside
Bolt, Torx M18 x 1.5 x 60 Black
Lifting Hook

Piston Cylinder, Hollow 200 kN
Pressure Piece, Hub Unit Bearing 200 kN
Flange Extractor

Plate, Traverse

Rod, Threaded M20 x 270
Nut, Collar M20

Kit, Guide Pin w/Lubricant
Kit, Tappet & Boot

Kit, Multi-Purpose Cap

Nut, Collar Trapezoidal Thd
Spindle, Trapezoidal Thd
Punch, Installer

Sleeve, Installer

Tool, Indenting

Sleeve, Press-In

Sleeve, Centering

Sleeve, Press-in

Sleeve, Press-In

Plate, Adapter

Mounting Fixture

Supporting Fixture

Fork, Press-Off

Sleeve Installer

Bushing Installer
Plug, EBS Port

Torque Adapter, TX100
Retaining Bolt, M8

Torque Multiplier - 1:3.5

Flat Cylinder

Socket, Wheel Flange Bolt
Gauge, Feeler

Brace, Front Wheel Flange
Pin, Connecting

O-Ring, Rubber 42mm

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG

$250.55
$557.96
$8.40
$139.88
$1,056.15
$54.14
$1,932.57
$148.78
$33.76
$33.21
$122.01
$105.22
$90.10
$21.01
$29.06
$45.37
$54.85
$669.27
$129.34
$59.45
543.68
$76.51
$41.51
$560.21
$365.35
$154.14
$394.77
$81.05
$17.95
$126.33
$22.60
$1,470.00
$920.15
$157.16
$19.41
$109.94
$1.98
$5.63



338677
340918
392738
393314
439331
458541
503394
543415
543416
543418
543419
546052
559359
6312111
6312852
6312877
6316565
6320052
6320091
6320144
6328226
6345470
6345478
6345483
6345786
6346381
6350215
6350216
6355957
6356514
6357001
6357002
6357003
6358225
6358226
6358227
6358228
6359347

Bracket, Shock Mount Rear Fore Curbside
Bumper, Suspension

Elbow, 90° Breather Barb 6 mm
Breather, Membrane

Spacer, Block

Driveshaft Assembly

Guard, Driveshaft

Hose, 3808 FL 31.35

Hose, 3808 FL 30.27

Hose, 3806 FL 66.19

Hose, 3806 FL 60.81

Beam Spacer, Rear Suspension
Axle Assembly, Rear 4.56 w/ABS
Plug, Drain and Fill M24 x 1.5
Pin, Dowel

Screw, Lock M12 x 40 Lg.

Plug, Magnetic M24 x 1.5
Pressing Plate, Input Flange Shield Removal
Reducer, Rolex Il

Flange, 150mm - 180mm
Connector, Breather

Socket, Nut Slotted

Gauge, Dial

Hook, Seal Race Removal

Bolt, Hex Lock M16 x 1.5 x 45
Washer

Handle, Slip-On

Adapter, Pressing Device

Thrust Piece, Hydraulic Puller
Bolt, Hex M8 x 20 Lg.

Tester, Friction

Separator, Roller Bearing Inner Race
Puller, Bearing Separator
Extension, Centering Tool
Tapered Collar

Spindle, Screw

Washer

Rotor, Brake Rear 17"

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MACKOW INDUSTRIES

STATE INDUSTRIES LTD

MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
ASSEMBLY SYSTEMS INC
PROP SHAFT SUPPLY INC
MACKOW INDUSTRIES

AIR HYDRAULIC SYSTEMS INC
AIR HYDRAULIC SYSTEMS INC
AIR HYDRAULIC SYSTEMS INC
AIR HYDRAULIC SYSTEMS INC
MACKOW INDUSTRIES

MAN ENGINES AND COMPONENTS
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
NEW FLYER

MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG
MAN TRUCK AND BUS AG

$156.98
$66.90
$5.02
$25.23
$52.24
$1,167.01
$615.14
$13.61
$13.99
$17.25
$16.50
$31.81
POR
$5.74
$2.51
$3.98
$9.55
$231.82
$150.78
$182.14
$12.74
$517.44
$274.43
$111.15
57.91
POR
$156.38
$137.14
$98.51
$2.46
$990.46
$231.27
$341.41
$395.22
$69.74
$71.96
$23.77
$169.39



6399623
6400656
6402100
6402101
6402109
6402112
6402113
6407900
6407901
6407902
6407903
6407905
6407906
6407907
6407908
6407909
6407910
6407971
6407972
6407973
6407974
6407975
6407976
6407977
6407978
6407979
6407980
6407981
6407982
6407983
6407984
6407987
6407988
6407989
6411033
6412468
6412469
6412470

Plate Attachments

Pin, Cotter 6.3 X 32mm

Thrust Piece, Differential
Assembling Device, Differential
Adapter

Depth Gauge, Electronic

Support Bar, Electronic Depth gauge
Differential Assembly, 4.56 Ratio
Driving Flange, Cross-Serrated with Ring
Nut, Grooved M70 x 1.5

Housing. Rear Axle

Screw, Lock M16 x 1.5 x 60 Lg.
Screw, Lock M16 x 1.5 x 50 Lg.
Shaft, Rear Axle Curbside

Shaft, Rear Axle Streetside

Screw, Lock M16 x 1.5 x 40 Lg.
Seal, Pinion Shaft

Housing Assembly, Ring Gear Differential
Bolt, Hex M20 x 2 x 110

Cover, Differential Housing

Pinion Drive, w/Ring Gear 4.56
Screw, Lock M18 x 1.5 x 55
Bearing, Differential Tapered Roller
Ring, Threaded Adjuster

Housing, Pinion

Bearing, Roller

Spacer Bushing

Bearing, Inner Pinion Shaft
Bearing, Outer Pinion Shaft

Cover, Differential Triangular
Gasket, Triangular Plate

O-Ring

Screw, Lock M8 x 10

Circlip, A45

Oil Filter

Ratchet Insert

Torque Wrench, 20 - 100 Nm
Square Drive

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN ENGINES AND COMPONENTS
MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN ENGINES AND COMPONENTS
NEW FLYER

MAN TRUCK AND BUS AG

MAN ENGINES AND COMPONENTS
MAN ENGINES AND COMPONENTS
NEW FLYER

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

$75.60
50.78
$372.23
$1,503.93
$46.82
$1,235.16
$202.70
$9,601.69
$453.16
$38.67
$9,989.62
POR

POR
$1,051.28
$1,051.28
POR
$98.12
$2,592.61
$10.34
$753.40
$1,891.96
$10.60
$340.37
$140.61
$302.23
$145.07
$63.33
$276.75
$301.30
$9.98
$7.38
$26.74
$1.03
$3.32
$14.50
$168.51
$475.06
$74.44



6412880
6412881
6412882
6412883
6412884
6446678
6446685
6447270
6447272
6458685
6466031
6471641
011243
109985
115906
315781
328380
449177
450543
450544
450606
5115753
5115754
557063
558201
558206
558212
579804
579980
583640
607311
607312
612828
615806
634540
6406353
6406354
6444254

Shim, 5.20 mm

Shim, 5.30 mm

Shim, 5.40 mm

Shim, 5.50 mm

Shim, 5.60 mm

Shaft Assembly, Short Coupled
Valve, Relief

Disc Brake Caliper Assembly, Front Curbside/Rear Streetside
Disc Brake Caliper Assembly, Front Streetside/Rear Curbside

Bolt, Hex M18 x 1.5 x 65
Housing, Differential
Bolt, Mounting Wheel M22 x 1.5 x 79

Support, Lower Steering Column Polyurethane

Support, Steering Column

Ground Wire, Steering Column
Bracket, Steering Column Cover
Support Plate, Steering Gearbox
Tee, 12 ORFS x 12 ORFS x 8 ORB Steel
Shaft Assembly, Upper

Shaft Assembly, Lower

Plug, 12 JIC Steel

Clamp, Steering Column 2.215" Fore
Clamp, Steering Column 2.215" Aft
Button, Horn w/Logo

Tube, Power Steering Front Supply
Hose, EQ2 -10 FL44.0

Hose, EQ2 - 8 FL19.0

Nut, Castle M12 x 1.5

Mounting, Steering Damper Front
Mounting, Steering Damper Rear
Tube, Power Steering Rear Supply
Tube, Power Steering Rear Return
Bracket, Mounting Steering Lines
Tube, Power Steering Rear Return
Hose, GH100 - 12 FL 43.0

Yoke, End

Cross

Nut, Hex Lock 7/16" - 20 UNF

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

PROP SHAFT SUPPLY INC

PROP SHAFT SUPPLY INC

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG
SHEKONIC GROUP LTD
SPECIALLASER TECH INC

MAKE AT MB1

SPECIALLASER TECH INC

NEW FLYER

BRENNAN INDUSTRIES INC
PROP SHAFT SUPPLY INC

PROP SHAFT SUPPLY INC

AIR HYDRAULIC SYSTEMS INC
MACKOW INDUSTRIES
MACKOW INDUSTRIES

IMMI VEHICLE IMPROVEMENT PRODU
UNASSIGNED

POLAR BEAR RUBBER LTD
POLAR BEAR RUBBER LTD
SUPPLY TECHNOLOGIES LLC
MACKOW INDUSTRIES
MACKOW INDUSTRIES
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
NEW FLYER

ORISKANY MFG TECHNOLOGIES
AIR HYDRAULIC SYSTEMS INC
PROP SHAFT SUPPLY INC

PROP SHAFT SUPPLY INC

PROP SHAFT SUPPLY INC

$51.88
$51.88
$51.88
$51.88
$51.88
POR
$12,56
$1,032.26
$1,032.26
$22.99
$1,170.74
$13.20
$31.41
$155.43
$11.71
$188.23
$101.61
$14.97
$208.31
$208.31
$1.65
$28.23
$30.95
$12.22
POR
$34.98
$15.89
$2.22
$624.23
$621.06
$56.00
$56.00
$38.67
$74.28
$42.97
POR
$13.54
$1.47



384340
384974
386264
389125
389141
393509
393511
394520
395700
395702
395859
397053
397523
397822
397864
399623
399958
402659
404846
406502
406927
417198
417915
418239
421734
427177
438902
448856
451921
453006
453012
464701
470768
470771
470951
472329
472402
474583

Strap, SCR Mounting

Strap, SCR Mounting

Bracket, Air Intake Tube Support
Bracket, Mounting P-Clamp Harness
Bolt, M6 x 1 x 16 SST

Tube, Agent Cylinder SST

Tube, Cylinder Agent SST Engine Compartment
Tube, Ancillary Spherical

Plate, Fire Suppression Bulkhead Connector
Plate, Fire Suppression

Gasket, Marmon 3.5"

Support, Elbow/Reactor

Bracket, DEF Fill Box

Flange, Bulkhead SST with Bushing
DEF Fill Box, Welded

Bracket, Switch Box

Switch, Float

Crossmember, Engine Front

Clamp, DPF Upper Support

Bracket, DPF/Tail Pipe Support
Bracket, Tail Pipe Support

Valve Assembly, Solenoid

Hanger, Support Alternator Air Intake
Bracket, Deutsch Connector

Bracket, Exhaust Tube Support

Tube, Tail Pipe Exhaust

Insulation, .25 Neoprene

Bracket, Alternator Air Intake

Tube, Discharge SST

Cable, Hazard 50' Lg.

Cable, Power Lead 50' Lg.

Bracket, Fire Suppression Hose Support
Bracket, SCR Channel Harness Support
Channel, SCR Harness Support
Bracket, SCR Support

Panel, Heatshield

Bracket, Harness Support

Bracket, Exhaust Tube Support

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MACKOW INDUSTRIES

MACKOW INDUSTRIES

ACCUFAB METAL WORKS
ACCUFAB METAL WORKS

WURTH ADAMS NUT AND BOLT CO
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
RITZ MACHINE WORKS

ACCUFAB METAL WORKS

NEW FLYER

VIBRANT POWER INC
SPECIALLASER TECH INC

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES USA INC
MACKOW INDUSTRIES

SCT WELDING LASER AND MFG CO
SMD FLUID CONTROLS

ASSEMBLY SYSTEMS INC

SCT WELDING LASER AND MFG CO
ACCUFAB METAL WORKS
SPECIALLASER TECH INC

MAKE AT MB1

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SPECIALLASER TECH INC
ASSEMBLY SYSTEMS INC
ORISKANY MFG TECHNOLOGIES
INDUSTRIAL RUBBER SUPPLY 1995 LTD
NEW FLYER

ORISKANY MFG TECHNOLOGIES
AMEREX CORP

AMEREX CORP

NEW FLYER

CHAMP INDUSTRIES CDN

NEW FLYER

ACCUFAB METAL WORKS

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

$135.98
$146.02
$23.81
$33.52
$0.34
POR
$72.55
$217.13
$23.53
$7.92
$28.86
$84.22
$137.76
$25.62
$72.40
$86.74
$25.87
$172.15
$65.06
POR
$58.83
$88.66
$5.81
$73.70
528.34
$307.54
$2.06
$8.44
$45.50
$227.27
$211.32
$7.06
$54.02
POR
$861.95
POR
POR
$80.15



627893
634977
634978
634979
635255
635433
6460413
6460649
6460650
659026
670761
565574
565693
596275
596276
665723
723401
003502
013480
473375
474680
493544
507948
512356
552872
554006
554007
554008
555446
555540
556632
563966
570882
572938
576123
576585
581684
594400

Engine Strut, Curbside

Hinge, Belt Guard Yellow

Plate, Belt Guard Closeout
Closeout, Belt Guard Upper
Frame, Belt Guard

Plate, with Nut M14 Welded
Blanket, Bellow

Blanket, Flex Pipe to Turbo
Blanket, Muffler to Flex Pipe
Tube, Alternator Air Intake

Box, SCR Harness

Cover, Accumulator Solenoid
Accumulator Assembly

Hose, EQ1T REX-20 FL 35.0

Hose, EQ1T REX-20 FL 53.0
Cover, Accumulator Solenoid
Harness, Transmission Interior
Channel, U Rubber 1/2" x 1/4"
Clamp, U-Boit 2.5" Dia. Lower Radiator Tube
Tube, CAC Inlet Engine

Tube, Inlet Air Compressor
Bracket, CAC Tube

Tube, Radiator Upper

Elbow, 90° Silicone 4.0" I.D.
Hose, NOZ2 - 04 FL 18.0

Hose Hump, 62 mm 1.D.

Hose Hump, 56mm 1.D.

Elbow, 90° Silicone 56 mm I.D.
Hose, 24 mm I.D, Silicone

Elbow, 45° Silicone 49 mm |.D.
Hose, Silicone 9 mm 13" Long
Elbow, 45° Silicone 34mm I.D.
Elbow, 90° Silicone 62 mm I.D.
Hose, Silicone 9 mm I.D. x 4' Lg.
Harness, Radiator Ground 50" Lg.
Harness, Radiator Ground 21" Lg.
Bracket, Radiator Tube Lower
Cooling Pressure Tester Assembly

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MACKOW INDUSTRIES
SPECIALLASER TECH INC
SPECIALLASER TECH INC
ACCUFAB METAL WORKS
MACKOW INDUSTRIES

NEW FLYER

UNASSIGNED

BLACK DIAMOND ENGINEERED PRODU
BLACK DIAMOND ENGINEERED PRODU
RITZ MACHINE WORKS

MAKE AT MB1

MACKOW INDUSTRIES

NEW FLYER

POLAR BEAR RUBBER LTD
POLAR BEAR RUBBER LTD

NEW FLYER

IMECO CABLE INC

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SHEKONIC GROUP LTD
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
ACCUFAB METAL WORKS
ORISKANY MFG TECHNOLOGIES
PUROSIL

POLAR BEAR RUBBER LTD
VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

VENAIR INC

IMECO CABLE INC

IMECO CABLE INC

NEW FLYER

BERENDSEN FLUID POWER

$567.34
$16.49
$15.08
$13.00
$336.91
$20.99
POR
POR
POR
$67.60
POR
$54.96
$777.10
$65.97
$78.02
POR
$403.73
$0.92
$8.15
$84.28
$66.42
$106.46
$90.87
$125.32
$11.92
$28.96
$27.82
$29.37
$46.44
$28.46
$81.20
$26.78
$39.07
$26.62
$38.38
$22.38
$9.56
$1,278.34



448148
455447
469129
475689
491104
491106
491109
491140
496887
496888
554493
6469677
652982
652983
228742
261556
344351
354542
358855
405264
405265
420033
420756
423941
434960
443507
443988
444564
445139
447997
494147
494340
494866
495556
495608
502002
503138
520983

Strap, Fuel Tank

Cable, Fuel Tank

Tube, Engine Fuel Return 138" Lg.
Tube, Engine Fuel Supply 141.6" Lg.
Fuel Tank

Plate, Fuel Filler

Gasket, Fuel Filler

Fuel Filler

Fuel Tank Assembly, 100 Gal.

Fuel Filler Assembly, 100 Gal.

Bracket, Fuel Supply Line

Check Valve Assembly

Support, Fuel Tank

Support, Fuel Tank

Valve, Leveling

Nut, Hex Lock Steel 1/4" - 20 UNC
Hose, 2807 - 16 FL 18.0

Bracket, Mounting Drain Valves
Sender, Air Pressure 150 psi

Link Assembly, Leveling Valve Streetside
Link Assembly, Leveling Valve Curbside
Hose, 2807 - 16 FL 25.0

Spacer

Air Dryer Assembly

Bracket, Curbside Leveling Valve

Hose, 2807 - 16 FL 31.0

Bracket, Streetside Leveling Valve
Valve Assembly, Leveling Streetside
Valve Assembly, Leveling Curbside
Park Brake Tower Assembly

Spacer, 11/4" O.D.

Decal, Front Brake & Emergency Tank
Valve Assembly, Traction Control
Valve, 90° 1/2" MPT x 1/2" FPT Single Check
Plate, Spacer

Bracket, Junction Block

Valve Assembly Complete, E6 Brake
Air Tank Assembly, Kneeling & Accessories

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

CHAMP INDUSTRIES CDN
IMECO CABLES AMERICA INC
AIR HYDRAULIC SYSTEMS INC
AIR HYDRAULIC SYSTEMS INC
CENTRO INCORPORATED
CHAMP INDUSTRIES CDN
INDUSTRIAL RUBBER SUPPLY 1995 LTD
CHAMP INDUSTRIES CDN
NEW FLYER

MAKE AT MB1

PRITCHARD METALFAB INC
DAVCOMFGLLC

MACKOW INDUSTRIES
MACKOW INDUSTRIES
BARKSDALE INC

SUPPLY TECHNOLOGIES LLC
AIR HYDRAULIC SYSTEMS INC
ACCUFAB METAL WORKS
BARKSDALE INC

MAKE AT MB1

MAKE AT MB1

AIR HYDRAULIC SYSTEMS INC
HARDER MACHINE SHOP
NEW FLYER

NEW FLYER

AIR HYDRAULIC SYSTEMS INC
NEW FLYER

BARKSDALE INC

MAKE AT MB1

MAKE AT MB1

MACKOW INDUSTRIES
ASSEMBLY SYSTEMS INC
MAKE AT MB1

UNASSIGNED

NEW FLYER

NEW FLYER

MAKE AT MB1

ASSEMBLY SYSTEMS INC

$138.96
$25.58
$33.42
$33.58
$1,179.98
$758.52
$6.49
$718.71
POR
POR
$34.75
$100.34
POR
POR
$49.56
$0.09
$51.16
POR
$130.05
$29.48
$27.56
$61.38
$1.90
$1,597.60
$7.41
$20.58
$9.09
$66.99
$139.84
$157.84
$243.34
POR
$150.02
POR
$5.81
$10.78
$412.57
$410.46



336054
338201
338225
355019
357732
371156
379084
384986
390201
392091
392283
392286
395858
408957
408972
408974
409621
409669
417245
417853
418147
418208
418209
420400
423873
425130
425896
426010
427859
431412
435863
435868
435929
438920
438921
440124
442250
443135

Bracket, Connector

Clamp, Power Cable

Clamp Plate, Power Cable

Plate Mounting, VMM Panel

Power Cable, Front Climate Control to Ground CC54PC
Light Indicator Assembly

Bracket, Service Lamp LED

Hold Down, Battery

Spacer, .5" 0.D. x .75" Thk.

Track, Electrical

Bracket, Cable

Clamp, Support Power Cable

Plate, Jumpstart Support

Support, Panel Advertising 144" Lg.
Support, Ceiling Panel Advertising 72" Lg.
Trim, Ceiling Coverstrip

Panel, Filler 28.68" x 2.14"

Tray, Battery

Harness, Service Lamp Jumper

Cable Entry Seal Assembly, EZ 10/5
Clamp, Hold Down 1/4" - 20 UNC

Clamp, Support Power Cable

Clamp Plate Support, Power Cable
Spacer, Chime Switch

Support, Panel Advertising 53.38" Lg.
Bushing, Snap 1.125" Black

Cable Entry Seal Assembly, E2 16/13
Lamp Assembly, Strip White LED 10-30V 18"
Bracket, Harness Support

Hanger, Light Support

Door Assembly, Fusebox

Panel, Fusebox Door

Hinge, Fusebox Door 2" SST

Electric Chime Assembly

Chime Assembly, Passenger Signal

Power Cable, Fusebox to Alternator PS2PC1
Plate, Driver’s Light

Bracket, LED Lamp Shield

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

SCT WELDING LASER AND MFG CO
HARDER MACHINE SHOP
CHAMP INDUSTRIES USA INC
ACCUFAB METAL WORKS
KMG FABRICATION INC
MAKE AT MB1

NEW FLYER

ACCUFAB METAL WORKS
SUPPLY TECHNOLOGIES LLC
SHEKONIC GROUP LTD
CHAMP INDUSTRIES CDN
MACKOW INDUSTRIES

KOCH STAINLESS PRODUCTS LTD
KMG FABRICATION INC

TCB ENTERPRISES LLC

KMG FABRICATION INC

TCB ENTERPRISES LLC
PLASTICOM INC

IMECO CABLE INC
WESTBURNE ELECTRIC
MACKOW INDUSTRIES
CHAMP INDUSTRIES CDN
ACCUFAB METAL WORKS
RUSSEL METALS US

KMG FABRICATION INC
SUPPLY TECHNOLOGIES LLC
WESTBURNE ELECTRIC
SMARTREND SUPPLY LTD
ACCUFAB METAL WORKS
TCB ENTERPRISES LLC
ACCUFAB METAL WORKS
CONTOUR MACHINE LTD
ALLEGIS CORPORATION
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
IMECO CABLES AMERICA INC
MACKOW INDUSTRIES
SMARTREND SUPPLY LTD

POR
$20.11
$34.76

POR
$48.96
$19.89

POR
$22.77

$1.22
$8.55
$179.79
$14.37
$53.34
$129.22

POR
$22.63

POR
$76.12
$28.77
$90.86

$5.97
$181.98
$27.25

POR
$73.95

$0.25

5147.16

$117.77
$97.59

POR

$414.83
$136.55
$7.50

POR
$73.21
$92.72
$31.90
$11.38



556708
569711
577898
581679
582916
583067
583068
5924048
594025
594639
594819
59558438
5962311
5963353
604714
616879
620599
623439
627382
627383
6394880
6394881
6394882
6394883
6394884
6394885
6394886
6354888
6394889
6394890
6394894
6394912
6395034
6399969
6399978
6401550
6401551
6401556

Slider, Tray Right
Bracket, Service Lamp LED

Power Cable, Fusebox to Starter PS2PC2

Power Cable, 24V Battery to Disconnect Switch PS29PC
Harness, XBAT24 with 4-Way Tower and 1-Way Shroud Conn
Power Cable, Switch to 12V Battery Fusebox PS1PC

Power Cable, Switch to 24V Battery Fusebox PS2PC

Fitting, Cord Guide

Channel, Chime Cover

Lamp Assembly, LED 12V

Lamp, Clear LED 12/24Vv

Seal, Rubatex .05" W x .125" Thk.
Seal, Rubatex 0.25" Thk. x 1.0" W
Seal, Rubatex .5" W x .06" Thk.
Bracket, Hose Support

Lamp Assembly, Clear LED 12/24v
Bracket, E-Stroke Diagnostic
Cable, GPS Antenna 25' Lg.

Cable, WLAN 1 Antenna 25' Lg.
Cable, WLAN 2 Antenna 25' Lg.
Bolt, Hex 1/4" - 20 x 1" Lg.

Nut, Lock 1/4" x 20

Washer, Steel 1/4"

Rivet, 3/16" x .125" - .25"

Pin, Spring 1/8" Dia. x 1" Lg.
Velcro, Tape Black 1"

Tape, .0625" Urethane Foam
Washer, Flat #8

Nut, Lock #8 - 32

Spring Clip, Lower Vent

Finger Board, with Female Connector
Vent, Light Closing Panel

Support, LED Board 144" Lg.
Screw, PH Type F #4 - 40 x 3/8" Lg.
Harness Assembly, 48" Lg. Dimmable
Bracket, Closing Panel Hanger
Bracket, LED Light Hanger

Angle, Duct Liner Support

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

NEW FLYER

NEW FLYER

KMG FABRICATION INC

IMECO CABLES AMERICA INC

IMECO CABLE INC

IMECO CABLES AMERICA INC

IMECO CABLES AMERICA INC
WESTBURNE ELECTRIC

NEW FLYER

SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD

INDUSTRIAL RUBBER SUPPLY 1995 LTD
INDUSTRIAL RUBBER SUPPLY 1995 LTD
INDUSTRIAL RUBBER SUPPLY 1995 LTD
NEW FLYER

MAKE AT MB1

NEW FLYER

KMG FABRICATION INC

KMG FABRICATION INC

MAKE AT MB1

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

KMG FABRICATION INC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

LUMASMART TECHNOLOGY INTERNATIONAL INC
KMG FABRICATION INC

KMG FABRICATION INC

KMG FABRICATION INC

KMG FABRICATION INC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

$112.42
POR
$85.30
$104.72
$28.77
$121.50
$95.91
$2.45
POR
$59.14
$19.72
$0.25
$0.24
$0.20
$11.82
POR
$6.35
5303.75
$448.20
POR
POR
POR
POR
POR
POR
$45.37
POR
POR
POR
$1.49
$10.62
POR
$126.14
50.09
$20.60
POR
POR
POR



6461118
648492
649659
654074
663126
665778
667580
679166
693578
693608
788535
275941
276010
284302
325434
331855
340727
340730
340731
342044
346108
346904
352991
361388
364731
364733
374092
380096
382893
382906
383535
402416
406618
419273
420092
420093
420237
424455

Bracket, LED Light Hanger

Switch, Stop Request

Lamp Assembly, Clear LED 12/24V
Busbar, 12V Fusebox

Harness, Service Lamp Extension
Busbar, 24V

Bracket, Cable

Power Cable, Fusebox/Gridheater EN97PC
Bracket, Switched LED Service Lamp
Lamp Assembly, Clear LED 12/24V
Bracket, Alternator Cable

Clamp, Tensioner

Turnbuckle, 5/8" - 18 UNF

Seal, Defroster

Rivet, Blind SST 3/16" .126/.250"
Bracket, Compressor Support
Tube, 1 1/8" Dia. Discharge

Tube, 1 3/8" Dia. Suction

Tube, 1 1/8" Dia. Discharge
Clamp, Twin 1.38/1.12 Dia.
Spacer, 1.75" O.D. x .38" Thk
Washer, 3/8" 1.D. x .19" Thk
Bracket, Belt Idler

Seal, Defroster Inlet

Tube, 1 1/8" Dia. Discharge

Tube, 1 3/8" Dia. Suction

Base Support, Compressor
Bracket, Drain Lines

Plate, -24 Retainer

Plate, -20 Retainer

Plate, Tensioner

Housing, Louver 4" Hose

Tube, 1 3/8" Dia. Suction

Tube, 1 1/8" Dia. Copper with Insulation
Duct, Roof HVAC Streetside

Duct, Roof HVAC Curbside

Tube, 1 3/8" Dia. Suction

Plate, A/C Driver’s Control

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

TCB ENTERPRISES LLC
SMARTREND SUPPLY LTD

KMG FABRICATION INC
MACKOW INDUSTRIES INTERNATIONAL
MAKE AT MB1

MACKOW INDUSTRIES

NEW FLYER

IMECO CABLES AMERICA INC
NEW FLYER

MAKE AT MB1

MACKOW INDUSTRIES
ASSEMBLY SYSTEMS INC
MACKOW INDUSTRIES
INDUSTRIAL RUBBER SUPPLY 1995 LTD
SUPPLY TECHNOLOGIES LLC
CHAMP INDUSTRIES CDN
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
STATE INDUSTRIES LTD
HARDER MACHINE SHOP
CHAMP INDUSTRIES CDN
MACKOW INDUSTRIES
INDUSTRIAL RUBBER SUPPLY 1995 LTD
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
MACKOW INDUSTRIES

NEW FLYER

SPECIALLASER TECH INC
SPECIALLASER TECH INC
MACKOW INDUSTRIES
PLASTICOM INC

ORISKANY MFG TECHNOLOGIES
NEW FLYER

NEW FLYER

MAKE AT MB1

ORISKANY MFG TECHNOLOGIES
NEW FLYER

POR
$17.85
$115.62
$174.04
POR
POR
POR
$67.14
$8.42
POR
POR
$62.67
$20.02
$5.39
$0.22
$560.38
$338.54
$316.06
$302.30
$11.97
$7.58
$7.75
$20.29
$3.13
$282.01
$330.52
$197.73
$10.72
$209.26
$94.75
$713.61
$16.96
$376.83
$118.47
$82.07
POR
$367.39
POR



546191
598000
660157
003242
006569
044996
044997
069019
084301
093003
102845
142496
202680
205142
206845
225686
225772
227871
232245
248112
266333
270851
291017
30500012BK
315794
317826
317828
320391
323879
332377
332403
333067
333197
333199
333200
333203
333728
334448

Structure, Dash/Side Console Welded Assembly
Chassis, Center Welded Assembly

Chassis, Rear Welded Assembly

Grommet, 3.75" O0.D.

Grommet, Rubber 2" 0.D. x 1.38" I.D. x .06" Thk.
Plate, Door Prop. Upper

Plate, Door Prop. Lower

Damper, 4" x 2.21" Steel

End, Nylon Ball Joint

Flooring, Corner

Angle, Door Catch

Wire, #16 Gauge Red

Seal, Rubber

Cylinder, Gas 10 Lbs.

Channel, U Rubber 3/8" x 1/2"

Bracket, Equipment Box

Bracket, Box Lid

Sealant, Tara Slate Grey

Roller Blind Assembly, Front

Seal, "D" Shape

Grille, Lower Air Vent

Plate, Hood Latch

Roller Blind Assembly, Side

Screw, FH Tpg. Type F #10 - 24 UNC x 3/4" Lg. Black
Cover, Steering Column Panel

Extrusion, Seat Track

Extrusion, Seat Track

Panel, Gusset Closeout

Screen, Defroster Duct

Bracket, Side Console RH

Bracket, Side Console LH

Support Assembly, Rack

Cove, Closeout Rear Curbside

Cove, Closeout Rear Streetside

Cove, Closeout Front Curbside Wheelhouse
Cove, Closeout Rear Curbside

Bracket, SDS Support

Plate, Striker

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MACKOW INDUSTRIES

NEW FLYER

NEW FLYER

STATE INDUSTRIES LTD

STATE INDUSTRIES LTD

ACCUFAB METAL WORKS

ACCUFAB METAL WORKS

MOBILE CLIMATE CONTROL CORP
DESPA GAZLI AMORTISOR

INDUSTRIAL RUBBER SUPPLY 1995 LTD
ACCUFAB METAL WORKS

WESTBURNE ELECTRIC

INDUSTRIAL RUBBER SUPPLY 1995 LTD
DESPA GAZLI AMORTISOR

INDUSTRIAL RUBBER SUPPLY 1995 LTD
ACCUFAB METAL WORKS
SPECIALLASER TECH INC

INDUSTRIAL RUBBER SUPPLY 1995 LTD
AUTO MOTION SHADE INC
INDUSTRIAL RUBBER SUPPLY 1995 LTD
SCT WELDING LASER AND MFG CO
MACKOW INDUSTRIES

AUTO MOTION SHADE INC

SUPPLY TECHNOLOGIES LLC
PLASTICOM INC

APEL EXTRUSIONS LTD

APEL EXTRUSIONS LTD

SPECIALLASER TECH INC

SCT WELDING LASER AND MFG CO
SPECIALLASER TECH INC

SCT WELDING LASER AND MFG CO
NEW FLYER

ELO ENGINEERING INC

ELO ENGINEERING INC

ELO ENGINEERING INC

ELO ENGINEERING INC

NEW FLYER

ACCUFAB METAL WORKS

$362.61
$6,155.73
$8,046.50
$7.43
$3.10
$33.53
$33.53
$46.73
$1.27
$0.39
POR
$0.22
$1.35
$9.27
$4.85
$45.67
$26.32
$32.76
$147.74
$2.34
$86.74
$6.02
$124.86
$0.20
POR
$8.09
$6.93
$156.07
$38.94
$73.70
$126.80
POR
POR
$27.33
$121.50
POR
$26.34
$32.89



358012
358770
358771
360042
361917
362010
362428
363139
363144
368941
375684
377662
377981
377983
379184
381167
385045
391470
395096
400352
401338
403163
403166
403190
407539
415518
415959
416832
416889
417082
417167
417177
417215
417473
417475
418665
421098
421099

Panel, Trim 7.79" Lg.

Flange, Closeout Curbside

Trim, Closeout Curbside

Plate, Dump Valve

Brace, Rear Bulkhead

Plate, Cover Latch

Tape, Foam Black 1/2" x 3/8" Thk.
Bracket, HVAC Closeout Teather
Strap, Door

Bracket, Wheelhouse Support
Spacer, Neoprene .25"

Plate, Striker

Plate, Mounting Support

Stud Plate

Panel, Gusset Closeout

Upper Vent, Advertising Panel
Panel, Firewall Closeout Streetside
Insulation, Wheelwell Plug Support
Panel, End Cap

Plate, Tapping HVAC

Plate, Step Closeout

Trim, Entrance Door

Trim, Entrance

Gasket, Entrance Trim

Bracket, Luggage Rack Support
Seal, Foam

Bracket, Hinge

Plate, Lower RH Dash

Guard, Wheelhouse Curbside
Plate, Stud

Stud Plate

Plate, HVAC Closeout Mounting Support
Cover Assembly, Headlamp Access
Plate, Stud

Plate, Stud

Bracket, Mechanism Cover Support
Bracket, Destination Sign Closeout
Bracket, Destination Sign Closeout

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

NEW FLYER

MACKOW INDUSTRIES

SPECIALTY MANUFACTURING
UNASSIGNED

ARTIK OEM CORPORATION

SCT WELDING LASER AND MFG CO
INDUSTRIAL RUBBER SUPPLY 1995 LTD
ACCUFAB METAL WORKS

ARTIK OEM CORPORATION

NEW FLYER

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SUNSET MANUFACTURING

NEW FLYER

NEW FLYER

ACCUFAB METAL WORKS

KMG FABRICATION INC

ARTIK OEM CORPORATION
INDUSTRIAL RUBBER SUPPLY 1995 LTD
MACKOW INDUSTRIES

SCT WELDING LASER AND MFG CO
ACCUFAB METAL WORKS

CHAMP INDUSTRIES USA INC

CHAMP INDUSTRIES USA INC
INDUSTRIAL RUBBER SUPPLY 1995 LTD
NEW FLYER

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SPECIALLASER TECH INC

UNASSIGNED

CHAMP INDUSTRIES CDN

NEW FLYER

NEW FLYER

NEW FLYER

UNASSIGNED

MACKOW INDUSTRIES

NEW FLYER

NEW FLYER

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

$2.59
POR
$15.26
$26.32
POR
$43.38
$0.22
$33.52
$15.73
$8.35
POR
POR
$5.07
$10.97
$138.11
$13.02
$94.17
POR
POR
$43.38
$48.52
$35.37
$43.54
$1.28
$8.40
$15.35
$94.75
POR
$189.26
$31.90
$21.78
$9.02
POR
$54.02
$36.35
$12.22
$114.01
$142.26



459393
459954
459970
460138
460140
460141
460142
466948
465593
475660
479086
479305
479351
479874
480419
480457
480628
481131
486980
489721
489761
494693
502820
50500012BK
510179BK
510853
512674
514877
521716
539944
541726
54500024BK
550320
553302
563192
563372
565216
565239

Finisher, End

Upper Deck Step Platform Assembly
Plate, Decal

Closeout, Stanchion Ceiling

Screw, PH AB #4 x 1/2" Lg.

Closeout, Stanchion Oval RH

Closeout, Stanchion Oval LH

Fan Assembly

Door Catch, Rear Ceiling Panel

Bracket, Supply Module Support

Seal, Closeout

Panel, Firewall Closeout Curbside

Insert, Steel 1/4" - 20 UNC x .027/.165"
Flange, Firewall

Decal, OBD

Plate, Cover

Bracket, SCR Coaling Lines

Trim, Rear Wheelhouse

Decal, To Open Doors Manually

Bracket, Muffler Mounting

Louver, 3.00" Dia.

Decal, Wait For Light (Spanish)

Bracket, SDS Enclosure

Screw, FH Cross Recess Tpg. Type AB #10 x 3/4" Lg. Black
Screw, Tapping #10 - 24 x 3/4" Torx Black
Panel, Access

Bracket, SDS Box Side

Insert, SST 1/4 - 20 UNC

Seal, Foam Armafiex with PSA Backing
Decal, Emergency Instruction (English/Spanish)
Bracket, SDS Rack Top

Screw, PH Cross Recess Tpg. Type AB #10 x 1 1/2" Lg. Black
Trim, Exit Door

Cylinder, Gas 15 Lbs

Striker Support, SDS Enclosure

Plate, Farebox Pedestal

Bracket, Destination Sign Closeout
Bracket, Destination Sign Closeout

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

TCB ENTERPRISES LLC

CARFAIR COMPOSITES INC
CARFAIR COMPOSITES INC

KMG FABRICATION INC

SUPPLY TECHNOLOGIES LLC
TCB ENTERPRISES LLC

TCB ENTERPRISES LLC

MAKE AT MB1

GENERAL PLASTICS INC

CHAMP INDUSTRIES CDN
INDUSTRIAL RUBBER SUPPLY 1995 LTD
ARTIK OEM CORPORATION
SUPPLY TECHNOLOGIES LLC
CHAMP INDUSTRIES CDN
SEIFERT GRAPHICS INC
UNASSIGNED

MACKOW INDUSTRIES

SCT WELDING LASER AND MFG CO
INTERGRAPHICS DECAL LIMITED
MACKOW INDUSTRIES
GENERAL PLASTICS INC
INTERGRAPHICS DECAL LIMITED
MACKOW INDUSTRIES

SUPPLY TECHNOLOGIES LLC
SUPPLY TECHNOLOGIES LLC
CHAMP INDUSTRIES USA INC
CHAMP INDUSTRIES USA INC
SUPPLY TECHNOLOGIES LLC
INDUSTRIAL RUBBER SUPPLY 1995 LTD
INTERGRAPHICS DECAL LIMITED
CHAMP INDUSTRIES USA INC
SUPPLY TECHNOLOGIES LLC
XSFR FR SCL

DESPA GAZLI AMORTISOR

NEW FLYER

CARFAIR COMPOSITES INC

NEW FLYER

NEW FLYER

POR
$3,249.54
$20.97
$1.54
$0.05
POR
POR
$208.90
$22.15
$220.26
$5.25
$106.69
$0.30
POR
POR
POR
POR
$266.27
$5.42
POR
$18.66
$40.83
$103.86
$0.24
$0.61
POR
POR
50.74
$19.31
$6.50
POR
$0.39
57.61
$13.99
$4.40
$58.66
$44.85
$22.98



346333
346334
346335
360078
361853
361855
362326
362671
367429
374600
392337
393340
401409
404013
405670
405780
409382
417092
418884
419360
419362
419370
422759
424395
424859
424864
426863
430429
430503
430519
430577
430594
431467
431689
431807
434434
434435
436266

Angle, Wiper Inner Curbside
Angle, Wiper Inner Streetside
Angle, Wiper Support

Fender, Polyurethane

Splash Guard, Front

Retainer, Splash Guard 1" x 8" Lg.
Bracket, Washer Pump

Clamp, Cushion "P" 1/4"

Rib, Window Streetside

Spacer, Foam Roof 14" x 2" x .50"
Panel, Front Mask Curbside
Bumper Assembly, Front

Plate, Strip

Spacer, Foam Roof Channel 1.69" x 1.56" x 1.15"
Lift Towing Adapter

Pin, Towing Adapter 7.94" Lg.
Flat Towing Adapter

Bracket, Channel Support

Panel, Filler 32.98" x 1.84"

Panel, Filler 52.30" x 2.43"

Panel, Filler 33.66" x 2.43"

Panel, Filler 26.86" x 2.43"

Panel, Entrance Door

Panel, Driver’s Window 42.37"
Panel, Streetside Upper Rear Pier
Panel, Curbside Entrance Door
Foam, Neoprene Insulation
Support, Channel

Gasket, Quter Spacer

Outer Spacer Assembly, Wiper Arm
Nut, Spanner 1.125"-18" UNEF
Tee, 7/64" -5/32"

Plate, Washer Bottle

Rib, Window Curbside

Spacer, Rear Bumper

lacking Adapter Kit

Jacking Adapter

Plate, Mud Flap Retainer 1" x 15.62" Lg.

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

ACCUFAB METAL WORKS

NEW FLYER

NEW FLYER

ROMEO RIM INC

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SCT WELDING LASER AND MFG CO
KMG FABRICATION INC

SUPPLY TECHNOLOGIES LLC
CARFAIR COMPOSITES INC

ARTIK OEM CORPORATION
UNASSIGNED

ROMEQ RIM INC

CHAMP INDUSTRIES CDN

ARTIK OEM CORPORATION
NIELSON MANUFACTURING LTD
NIELSON MANUFACTURING LTD
MACKOW INDUSTRIES

ACCUFAB METAL WORKS

NEW FLYER

ACCUFAB METAL WORKS
ACCUFAB METAL WORKS
ACCUFAB METAL WORKS
ACCUFAB METAL WORKS
ACCUFAB METAL WORKS

CARFAIR COMPOSITES HEATHERWOOD
CARFAIR COMPOSITES INC
INDUSTRIAL RUBBER SUPPLY 1995 LTD
MACKOW INDUSTRIES

XSFR FR KY1

SMARTREND SUPPLY LTD
WESTBURNE ELECTRIC
WESTBURNE ELECTRIC

CHAMP INDUSTRIES CDN

CARFAIR COMPOSITES INC
ACCUFAB METAL WORKS

SCT WELDING LASER AND MFG CO
SCT WELDING LASER AND MFG CO
SPECIALLASER TECH INC

$65.05
$10.40
$8.56
$96.87
$27.48
$59.36
$7.92
$1.55
$78.58
$7.28
POR
$1,249.12
$32.72
$20.96
$92.99
$56.44
$616.45
$25.78
$7.70
$37.11
$33.52
$33.52
$69.27
$153.56
$527.07
$431.34
$3.10
$115.02
$0.59
$18.08
$2.09
$1.12
$121.54
POR
$8.38
$1,587.06
POR
$160.03



6396567
639666
6458762
6465832
6465833
6465834
6465835
6465836
6465837
6465838
6465839
6465841
6465842
6465843
6465849
6465850
656315
656316
657942
675827
680792
9210152
9210153
215138
357552
518461
518462
523874
591199
598457
598465
598503
601041
601042
601044
6309292
6310460
6335773

Lift Towing Receivers Kit Yes
Fairing, Streetside Yes
Gasket Yes
Arm, Idler Yes
Washer, Flat M5 Yes
Nut, Lock Nylon M5 x 0.8 Yes
Bushing, Saddle Link Yes
Saddle Link, Wiper Arm Yes
Bolt, Special M5 x 0.8 Yes
Arm, Main Yes
Head, Wiper Arm Yes
Spring Yes
Nozzle, Wiper Arm Yes
Bolt, M5 Nozzle Yes
Clamp, Wire Hose Yes
Hose, Wiper Yes
Wiper Motor and Bracket Assembly, Curbside Yes
Wiper Motor and Bracket Assembly, Streetside Yes
Panel, Roof Front Yes
Strip, Bumper Isolator Yes
Wiper Arm Assembly, Wet Yes
Hose, 7/64" |.D. Yes
Hose, 5/32" 1.D. Yes
Lace, Window Seal Yes
Seal, Clampring Screw Cover Yes
Windshield, Streetside 72% Green Tint Yes
Windshield, Curbside 72% Green Tint Yes
Glass, Destination Sign Yes

Flush Window Assembly, Emergency Fixed Front Streetside Yes
Flush Window Assembly, Emergency Side Destination Sign ~ Yes
Flush Window Assembly, Emergency Tip-In/Fixed 62.28" x 42 Yes
Flush Window Assembly, Non-Emergency Fixed Front Curbsic Yes
Flush Window Assembly, Non-Emergency Tip-In/Fixed 62.28" Yes
Flush Window Assembly, Non-Emergency Tip-In/Fixed Street: Yes
Flush Window Assembly, Non-Emergency Tip-In/Fixed Curbsi Yes
Cylinder, Gas Spring Yes
Latch, Sash Yes
Seal, Clampring Outer Yes

MAKE AT MB1

CARFAIR COMPOSITES INC
SAFE FLEET BUS AND RAIL
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
SMARTREND SUPPLY LTD
COMOTECH NA INC
COMOTECH NA INC
CARFAIR COMPOSITES INC

INDUSTRIAL RUBBER SUPPLY 1995 LTD

SMARTREND SUPPLY LTD
POLAR BEAR RUBBER LTD
POLAR BEAR RUBBER LTD
POLAR BEAR RUBBER LTD
AROW GLOBAL CORP

CUSTOM GLASS SOLUTIONS UPPER SANDUSKY LLC
CUSTOM GLASS SOLUTIONS UPPER SANDUSKY LLC
CUSTOM GLASS SOLUTIONS UPPER SANDUSKY LLC

AROW GLOBAL CORP
AROW GLOBAL CORP
AROW GLOBAL CORP
AROW GLOBAL CORP
AROW GLOBAL CORP
AROW GLOBAL CORP
AROW GLOBAL CORP
DESPA GAZLI AMORTISOR
AROW GLOBAL CORP
AROW GLOBAL CORP

$1,807.62
$445.82
511.08
$32.75
$0.05
$0.20
$3.45
$2.25
$2.27
$30.26
$26.04
$1.54
$1.00
$3.01
$0.03
$2.05
$169.71
$174.80
$4,486.10
$4.51
$83.29
$0.45
50.55
$0.70
$2.03
$298.91
$298.91
$469.49
$1,759.18
$4,707.87
$2,432.80
$2,961.80
$2,333.58
$2,518.35
$2,567.25
$10.26
$11.30
$1.16



346654
346834
350319
359218
362261
362426
363030
363132
366783
366791
368810
370035
370328
377824
384394
384396
384564
391013
396173
405288
413218
414749
415369
416010
416011
417267
420342
421231
421321
423529
423532
424810
424811
424812
424914
426459
427313
432973

Bracket, Latch

Bracket, Door Stop

Panel, Engine Door

Cylinder, Gas 60 Lbs

Plate, with Stud

Hinge, Access Door 3" x 29.56" Lg. SST
Bracket, Prop Rod

Bracket, HVAC Closeout Tether
Bracket, Rear Crown

Bracket, Rear Crown

Plate, Quad Latch Bracket
Cylinder Assembly, 10 Lbs.

Strip, Foam lIsolator

Angle Bar, 1" x 1" x .12" x 32.5"
Angle Bar, 1" x 1" x.12" x 10"
Angle Bar, 1" x 1" x .12" x 5"
Angle Bar, 1" x 1" x .12" x 3.25"
Insulation, Rear Crown

Angle, Bumper Stop

Plate, Latch Backing

Panel, Closeout

Grille, Return Air

Hinge, Stop Request Access Door
Bracket, Defroster Door Curbside
Bracket, Defroster Door Streetside
Bracket, Stop Request Mounting
Bracket, Heat Shield

Hinge, Corner Pillar Door
Bracket, Corner Pillar Door Hinge
Insulation, Corner Piliar
Insulation, Corner Pillar

Bracket, Over Center Spring
Bracket, Corner Pillar Door Hinge
Bracket, Corner Pillar Door Hinge
Spring, Torsion

Door Assembly, Fuel Filler Access
Frame, HVAC Filter

Plate, Access Door Latch

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

ACCUFAB METAL WORKS
MACKOW INDUSTRIES

CARFAIR COMPOSITES INC

DESPA GAZLI AMORTISOR

NEW FLYER

NETTWORK MANUFACTURING
NEW FLYER

ACCUFAB METAL WORKS

SCT WELDING LASER AND MFG CO
SCT WELDING LASER AND MFG CO
ACCUFAB METAL WORKS

DESPA GAZLI AMORTISOR
INDUSTRIAL RUBBER SUPPLY 1995 LTD
CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

ARTIK OEM CORPQRATION

XSFR FR KY1

SCT WELDING LASER AND MFG CO
ACCUFAB METAL WORKS

NEW FLYER

NETTWORK MANUFACTURING
CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN
MACKOW INDUSTRIES

SHEKONIC GROUP LTD

NEW FLYER

ARTIK OEM CORPORATION

ARTIK OEM CORPORATION
NETTWORK MANUFACTURING
CHAMP INDUSTRIES USA INC
CHAMP INDUSTRIES USA INC
SUPPLY TECHNOLOGIES LLC
ACCUFAB METAL WORKS
SPECIALLASER TECH INC

SCT WELDING LASER AND MFG CO

$33.52
$22.46
$1,368.22
$12.81
$13.22
$31.84
$6.72
$33.52
$168.08
POR
$29.76
$11.17
$2.80
POR
POR
POR
$133.63
$135.96
$22.82
$13.01
$387.70
$32.26
$46.75
$49.74
$68.54
POR
$187.56
$23.20
$9.05
$74.74
$10.79
$8.59
$30.17
$38.75
$2.69
$336.86
$209.26
$44.22



575286
575795
576501
577721
577995
578003
578014
584062
5963178
5964906
599305
599306
599310
619128
6459404
675378
712701
760996
761034
026221
103424
10B05016BK
14504008BK
15S00006BK
332957
332958
337126
339554
346281
346503
347085
354219
354408
401767
401838
417779
426901
437976

Bracket, Hinge

Bracket, Mounting Mechanical Door

Plate, Striker

Bracket, Hinge Mount

Plate, Driveshaft Guard

Plate, Driveshaft Load

Spacer, Driveshaft

Door Assembly, Transmission/Drive Unit Access
Seal, Rubatex 1.5" W x .06" Thk.

Seal, Rubatex .62" W x .187" Thk.

Panel, Steering Closeout

Door Assembly, Radius Rod Access

Door Assembly, Steering Box Access

Panel, Defroster Door

Door, Access

Door Assembly, Upper Corner Pillar Curbside
Bracket, Fuel Fill Door

Bracket, Cylinder

Bracket, Cylinder

Washer, Special 1" I.D. x 1 1/2" O.D.

Wedge, w/Thread

Bolt, Hex 5/16" - 18 UNC x 1" Lg. Black
Screw, PH Cross Recess SST 1/4" - 20 UNC x 1/2" Lg. Black
Screw, PH Cross Recess SST #10 - 32 UNF x 3/8" Black
Glass, Entrance Aft

Glass, Entrance Fore

Trim, Seal Mounting Fore

Trim, Entrance Door Fore

Angle, Door Mechanism Hanger

Bracket, Hanger

Bracket, Controller

Cover, Door Post

Cover Door Post, Aft 17" x 68.63"

Trim, Entrance Door Aft

Trim, Seal Mounting Aft

Trim, Seal Mounting Fore

Glass, Door 44% Grey

Cover Door Post, Fore Middle

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

SPECIALLASER TECH INC

CHAMP INDUSTRIES CDN

NEW FLYER

CHAMP INDUSTRIES CDN

NEW FLYER

NEW FLYER

MACKOW INDUSTRIES

NEW FLYER

INDUSTRIAL RUBBER SUPPLY 1995 LTD
INDUSTRIAL RUBBER SUPPLY 1995 LTD
NEW FLYER

MAKE AT MB1

NEW FLYER

CARFAIR COMPOSITES INC

DALSIN INDUSTRIES INC

NEW FLYER

NEW FLYER

CHAMP INDUSTRIES CDN

CHAMP INDUSTRIES CDN

WURTH ADAMS NUT AND BOLT CO
SUPPLY TECHNOLOGIES LLC
SUPPLY TECHNOLOGIES LLC
SUPPLY TECHNOLOGIES LLC
SUPPLY TECHNOLOGIES LLC

XINYI GLASS NORTH AMERICA INC
XINY! GLASS NORTH AMERICA INC
MACKOW INDUSTRIES

SCT WELDING LASER AND MFG CO
NEW FLYER

NEW FLYER

MACKOW INDUSTRIES

ARTIK OEM CORPORATION

ARTIK OEM CORPORATION
MACKOW INDUSTRIES

SCT WELDING LASER AND MFG CO
SCT WELDING LASER AND MFG CO
AROW GLOBAL CORP

ARTIK OEM CORPORATION

$24.18
$149.01
$2.29
$80.02
$24.18
$3.47
$2.46
$953.04
$0.24
$0.34
59.14
$121.37
$243.77
$779.10
$134.30
$608.86
$31.87
$14.84
$22.51
$0.39
$1.65
$0.44
$0.30
$0.34
$74.09
$73.38
$65.14
$175.06
$7.43
$12.44
POR
$12.82
$19.03
$69.12
$106.11
$106.11
$169.54
$8.28



8410544
10804020BK
433436
452350
452367
065409
103030
175200
185447
198972
270796
390727
426643
5115988
553292
555896
572740
5944241
5951270
625880
6324970
632560
6349370
6349373
6390141
6392125
6392402
6392403
6392404
6412855
6461418
8111605
001081
033945
247222
333423
333424
342702

Washer, Special 7/16" x 3"

Bolt, Hex 1/4" - 20 UNC x 1 1/4" Lg. Black
Spacer, 0.50 Thk. x 0.75 O.D.

Bracket, Streetside

Bracket, Curbside

Switch Assembly, 4-Way Flasher

Lamp Assembly, 12V Green

Harness, Throttle Jumper

Harness, 3-Circuit Weatherpack Switch
Harness, Foot Switch Turn Signal
Harness Assembly, Foot Switch 6" Lg.
Switch, Camera Event w/LED Indicator
Cover, Harness with Hole 3.5" x 2.0"
Plate, Dimmer Switch

Plate, Driver’s Control

Driver’s Plate Assembly

Lamp Assembly, Indicator Green with Connectors

Grommet, Rubber 1.25" 0.D. x.75" I.D. x .13" Thk.

Switch, Master Run

Plate, Grommet Retainer

Inverter, Instrument Panel

Bracket, Mounting Foot Turn Signal
Strip, Lamp .75" W x 3.75 Lg.

Filter, Inverter

Lamp, Strip 3 1/2" x 7 5/8" Lg.

Trim, Bezel

Washer, Flat .52 I.D. x .0215 Thk.
Washer, Flat .465" 1.D. x .0215" Thk.
Washer, Flat 0.465" I.D. x .0215" Thk.
Kit, Captive Screw

Washer, Flat 0.375" I.D. x .0215" Thk.
Guard, Switch Red

Grommet, Rubber 1.5" O.D. x .50" I.D. x .18" Thk.
Strap, Ramp Pull-Up .98" W x 9.00" Lg.
Clamp, "P" .562" SST/HT

Spacer, Wheelchair Ramp .050" Thk.
Spacer, Wheelchair Ramp .037" Thk.
Spacer, Bushing .500" O.D x .260" 1.D.

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

SUPPLY TECHNOLOGIES LLC
SUPPLY TECHNOLOGIES LLC

SCT WELDING LASER AND MFG CO
MACKOW INDUSTRIES

MACKOW INDUSTRIES

MAKE AT MB1

MAKE AT MB1

KMG FABRICATION INC

MAKE AT MB1

IMECO CABLE INC

IMECO CABLE INC

SEON DESIGN INC

INDUSTRIAL RUBBER SUPPLY 1995 LTD
SPECIALLASER TECH INC

CHAMP INDUSTRIES CDN

MAKE AT MB1

MAKE AT MB1

WURTH ADAMS NUT AND BOLT CO
WESTBURNE ELECTRIC

NEW FLYER

POSITRON

NEW FLYER

POSITRON

POSITRON

POSITRON

PARKER HANNIFIN VANSCO
POSITRON

POSITRON

POSITRON

MAKE AT MB1

POSITRON

WESTBURNE ELECTRIC
WESTBURNE ELECTRIC

ARTIK OEM CORPORATION
SUPPLY TECHNOLOGIES LLC

SCT WELDING LASER AND MFG CO
SCT WELDING LASER AND MFG CO
MACKOW INDUSTRIES

$1.14
$0.30
$65.06
$37.38
$28.94
POR
$27.10
$36.93
$19.69
$32.59
$52.15
$131.01
POR
$96.59
$125.31
POR
POR
$1.19
$30.55
$12.18
$17.07
$53.50
$16.40
$13.26
$35.78
$80.57
$1.18
$1.18
$1.18
$11.20
POR
$14.49
$2.66
$5.19
50.73
$52.05
$52.05
$17.01



608772
614470
655536
655537
333144
559351
6361061
6472725
680466
353431
406868
489605
511135
484879
498480
501105
631826
631827
635353
635356
720843
425568
10B04088
331710
526441
553566
5554438
574845
607698
681660
686612
405191
502001
506786
561933
591449
699427
704908

Block, Chain Spacer

Shaft, Clevis .625" Dia x 3.750" Lg.
Hose, FC510 - 04 13.06 FL

Hose, FC510-04 10.13 FL

Bracket, Leveling Valve Link

Front Axle Assembly

Hub Flange

Stud, Wheel Mounting M22 x 1.5 x 65
Harness, Front ABS Interface
Washer, Flat 1.03" I.D. x 2.5" O.D.
Bracket, Hydraulic Reservoir
Power Steering Pump Assembly w/Fittings
Reservoir Assembly, Power Steering
Engine Strut, Streetside

Bracket, Tube Support

Tube, Discharge SST

Strip, Neoprene

Plate, Neoprene Backing

Plate, Air Intake Closeout

Panel, Air Intake Closeout

Harness, SCR Engine X40/60

Hose Assembly, EQ1HT - 20 FL 31.0
Bolt, Hex 1/4" - 20 UNC x 5 1/2" Lg.
Bracket, Transcooler Mount

Tube, Radiator Lower

Hose, Silicone 62mm I.D.

Hose, Silicone 34mm I.D.

Clamp, Saddle 1.375" Dia. SST
Bracket, Surge Tank Hose Manifold
Tube, Radiator Lower

Tube, Bypass

Link Assembly, Leveling Valve
Junction Block Assembly
Transducer Manifold Assembly
Valve Assembly, Leveling

Valve, Leveling w/Sensor

Switch, Pressure 50 psi

Kneeling Valve Assembly

Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes
Yes

MACKOW INDUSTRIES
SPECIALLASER TECH INC
ORISKANY MFG TECHNOLOGIES
ORISKANY MFG TECHNOLOGIES
ACCUFAB METAL WORKS

NEW FLYER

MAN TRUCK AND BUS AG

MAN TRUCK AND BUS AG
IMECO CABLE INC

WURTH ADAMS NUT AND BOLT CO
SPECIALLASER TECH INC

MAKE AT MB1

ASSEMBLY SYSTEMS INC
MACKOW INDUSTRIES

NEW FLYER

NEW FLYER

INDUSTRIAL RUBBER SUPPLY 1995 LTD
NEW FLYER

NEW FLYER

NEW FLYER

IMECO CABLE INC

POLAR BEAR RUBBER LTD
ENDRIES INTERNATIONAL
MACKOW INDUSTRIES
ORISKANY MFG TECHNOLOGIES
VENAIR INC

VENAIR INC

WURTH ADAMS NUT AND BOLT CO
NEW FLYER

ORISKANY MFG TECHNOLOGIES
RITZ MACHINE WORKS USA LLC
MAKE AT MB1

MAKE AT MB1

MAKE AT MB1

BARKSDALE INC

BARKSDALE INC

BARKSDALE INC

MAKE AT MB1

$160.42
$209.26
$19.95
$18.28
$23.46
POR
POR
$11.26
$752.78
POR
$130.10
$298.32
POR
$325.66
$31.52
$30.46
$4.22
$4.48
$12.45
$55.58
$732.58
$70.98
POR
$63.46
$61.95
$112.22
$64.59
$2.02
$7.45
$284.85
$163.22
$37.98
$97.87
$650.66
$403.85
$361.33
$42.27
POR



